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BLUE PRINT

Class — 5", Subject — Mathematics
Number Distribution

Hol™-ip—B

Unit

Marks
Allocated

1
Mark

2
Marks

3
Marks

Marks

6 Total
Marks | Questions

I | Numbers

Operations

Profit and
Loss

06

1

2 | Unitary
Method

Average

Multiples
and Factors

05

3 Fractions

Decimals

Symmetry

+1

+1

4 | Angles

Geometrical
Figures

5 | Length

Weight

Capacity

Money

06

6 | Time

Billing

06

7 Perimeter

Area

04

& | Data
Handling

Pattern and
Riddles

05

Grand Total

40

04

05

03

00

17

Note:- Internal Options will be given in (starred) questions.




BLUEPRINT
Class -5

Question Paper
Subject — English

Hel - 1—B

Duration - 2:00 Hours Marks - 40
Division of marks according to question
S.N. | Typesof |Multiple| Very Short Short Total | Percentage
question | Choice short answer | answer | Mark | weightage
| mark answer (1) (1)
2 mark 3mark | 4 mark
1 Reading 2 1 2 1 14
2 Writing 1 2 10
3 Grammar 3 1 6
4 | Vocabulary 2 2 10
Marks 40
Total Question 17
Project - - - - 10
Total Marks 50
Category Marks Questions
Reading (Prose Poetry) 14 6
(1) Textual —4
(2) Unseen - 4
(3) Seen-3
(4) Picture Reading - 3
Writing 10 3
Grammar 6 4 ]
Vocabulary 10 4
Total 40 17
Knowledg | Understandin | Analysi | Applicatio | Evaluatio | Synthesi | Total
e g s n n s
30% 30% 15% 10% 7.5% 7.5% 100
%
12 marks 12 marks 6 marks | 4 marks 3marks | 3marks | 40
mark
5
Difficulty Easy Medium Hard
Percentage 40% 40% 20%
Marks 16 16 8
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01 ¥

02 IAF

03 3H

04 3H

05 &

06 AP | g U

01

01

01

o)

01

01

™M

01

i)

01

o1

03

01

i)

01

01

%;
;

G

o1

01

#1

04

-
:

01

01

0s

!
:

03

01

01

01

01

06

01

01

EhrEe

01

01

o7

01

01

0

01

01

01

o8

17

05+ 08 + 15 +

12 = 40
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5 | defumdg wwE(l)
68 | drefsary gw(ll)
17 40
B W FFUR favrers
. HEE wR yE AR oo AP wferer
SRRl
1 LiEGH 158=3
2x2=4 16 40%
3x3=9
2 3 1x2=2
IXZE=8 16 40%
4x2=28
3 CAGE]
2x2=4 08 20%
1X4=4
ool AN 17 40 100%
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Hel-h—B

Blue Print Session 2024-25
Class — 5
Subject — Environment
Marks Division
Unit Chapter Name Alloted 1 2 3 4 5 6 Total
Marks | Marks | Marks | Marks | Marks | Marks | Marks | Question
Let’s do a Survey 01 01
] Direction, Scale and Map 04
Root and Leaves 01 01
Mosquitoes and Malaria
The Map Speaks 09 01 01
2 Snakes 01 h
Bank 01 01
The Autobiography of 01 01
Mahanadi 035
3 How is Iron 01 01
The Jungle of Chhattisgarh
Magic with Mirrors
The Skin 01 01
Friction 04
4 Ants
Food of Animals 01 01
Bones
Divyang, Not a Curse 01
3 Solar Energy 03 01 01 01
Hatri (A Weekly Market)
Talagoan 01 01
Means of Transport 05 01 01
¢ Visit of Goa
Louis Pasteur
The Journey of Seeds
Mud and Stones 01 01
7 | The Brave Warrior of 06 01 01
Chhattisgarh
Punjab 01 01 02
Handcrafts of Chhattisgarh
The Wonders of Computers
: Disaster Management 04
Story of Raju
Total Marks 40 05 04 05 03 17
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Class - 8

Question Paper

Subject — English

Annexure -B

Duration — 3:00 Hours Marks - 80
Division of marks according to question
S.N. | Types of question | Multiple | Very | Short | Short |Long |Long | Total
Choice | short | answer | answer | answer | answer | Mark
answer | (I) (IT) iy (IT)
I mark | 2 mark | 3 mark | 4 mark | 5 mark | 6 mark
1 Reading 5 3 3 1 2 1 40
(Prose, Poetry,
Seen & Unseen
Passage)
2 Writing - I - 3 - 1 20
Grammar 5 1 1 - - - 10
4 Vocabulary 5 1 1 - - - 10
Total Question 15 6 5 4 2 2
Mark 15 12 15 16 10 12 80
Project - - - - - - 20
Total Marks 100
Category Marks Questions
Reading 40 15
Writing 20 5
Grammar 10 7
Vocabulary - 10 7
Total 80 34
Knowledge | Understanding | Analysis | Application | Evaluation | Synthesis | Total
30% 30% 15% 10% 7.5% 7.5% 100%
24 marks 24 marks 12 marks | 8 marks 6 marks 6 marks | 80 marks
Difficulty Easy Average Hard
Percentage 40% 40% 20%
Marks 32 32 16
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Instructions:-

Q.1

Q.2

Q.3

Q4

Q.5

Q.6

Q.7

Q.8

All the questions are compulsory

Fill in the blanks with correct alternative. (1 marks each) 1 X 5

Ramu sells

(a) balloons (b) fruit (c) vegetable (d) flowers
Which animal has a hump?

(a) elephant (b) cow (c) duck (d) camel
I want to cricket.

(a) play (b) playing (c) played (d) plays
The train arrived 3.30 pm.

(a) it (b) at () in (d) and
Bunty wakes up early the morning.

(a) a {(b) an (c) the (d) on

Do as directed. (2 marks each) 2 X 4

Write any two name of transport.

(@) (b)

Fill in the missing letters using the picture.

(a) L

T
© C__w W ()

Answer these questions. (any two)

(a) Name two places where cats sleep?

(b)  What fell from the tree?

(c) Why do vou think butterfly likes its wings?

(d) How was the rich man?




Q.10

Q.11

Q.12

Fill in the blanks with opposite words.

night, close, go, small

(a) Come - (b) Day -
() Big - (d) Open -

Do as directed. (3 marks each)3X §

Read the paragraph given below and complete the story with help of picture word.

One day a \ was hungry. He saw a ‘ . It was very ripe.

Suddenly a ﬂ came in, He said, “Don’t touch the mango it is mine™.

Fill in the blanks with the correct preposition from the help box.

in, on, under

(a) The fish is the pond.
(b)  The cat is sitting the table.
(c)  The man is taking rest the tree.

Give the one rhyming word for the words given below.
(a) hump
(b)  lake
(c)  well




Q.13 Read the passage and choose the correct answer.

Once there was a girl named Tara. She went to a forest. There she met an old woman. The old
woman gave her a pot. She said “This is a magic pot.” It will cook porridge for you when you say,
*Cook-Pot-Cook’. Tara said to the pot, “Cook-Pot-Cook™ and the pot cooked porridge.

(a) Where did Tara go?

(i) market (ii) forest (iii) school (iv) hospital
(b)  What did old woman give Tara?

(1) a magic pot (i1) a book (ii1) a pencil (iv) a magic wand
(¢) Who said Cook-Pot-Cook?

(i) women (i1) mother (iii) Tara (iv) father

Q.14 Circle the parts of computer.

Mouse Television Maobile Keyboard
Mike Radio Monitor Blackboard

Do as directed. (4 marks each) 4 X 3

(Q15. Read the paragraph and answer these questions.

One morning as Mona walked to school, she met a camel. The Camel wore big shoes and
held a book in his hand. He smiled and said, “Good morning, Mona.”

(a) Where was Mona going?

(b) Who said “Good morning™ Mona?

Q.16 Arrange the sentences in correct order.

a. Then | returned home.
b. 1 also bought some fruits there.
c. I went to market yesterday.

d. There [ bought some vegetables.




Look at the picture and write four lines.

Q.17




PROJECT WORK
CLASS-5
Subject - English
(Attempt any two)
(2 x 5= 10 Mark)

1. You are going for a picnic to a nearby park with you friends.
Make a shopping list for the things that you would need for the picnic.
Also mention the quantity of the items that you need.

2. Sit with your friend and make a list of animals and birds that can swim.
Animals Birds

3. List out the items that you get at a railway platform or a bus stand.

S. No EATABLES OTHERS

4. Collect some flowers and keep them in your books. After they dry make a
floral album.

5. Categorize the leaves according to their shapes and make a herbarium.



T 9HIOT U U 2025

ey IR

HeT — Urad!
Ere] gl & YHR IR
EIGd (K,U,A,N,E,C)
01 K (a) balloons
02 K (d) camel
03 % K (a) play
04 u (b) at
05 U (b) in
06 U (a) car/bus/cycle etc. (open ended)
(b) truck/van/ train etc. (open ended)
07 U (a) Lion (b) Donkey
E (¢) Cow (d) Tiger
08 K (a) Thecats sleep in shoes, cupboard, card
l%ﬂ board box etc. (open ended)
d% (b) A coconut fell from the tree.
(¢) The butterfly likes its wings because they
help it to fly.
(d) The rich man was a miser.
09 AN (a) go (b) night
(c) small (d) close
10 K Parrot, Mango, Monkey
11 U (a) in (b) on
(¢) under
12 % U (a) bump (b) make
Eq (c) bell
13 E (a) (ii) forest (b) (i) a magic pot
(¢) (iii) Tara
14 G (a) Mouse (b) Keyboard
(¢) Monitor
15 8} (a) Mona was going to school.

(b) The camel said ‘Good morning’ to Mona.




16

17

AN

(a) I went to market yesterday.

(b) There I bought some vegetables.
(c) I also bought some fruits there.
(d) Then I returned home.

(a) A boy and a women are standing.
(b) The boy wants o go to circus,
(c) A men is selling balloons.

(d) There is a house in the picture.
{open-ended)
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Annexure- C

Upper Primary Certificate Exam 2025

Sample Question paper
Class -8
Subject - English
Time -3.00 Hours Total Marks — 80
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1.13 1 16 4

1.14 1 17 5

1.15 1 18 5

2 2 19 6
3 2 20 6
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Instructions: - \
1. It is compulsory to answer all the questions.
Tf war gt T ST
2. Question no. 1.1 to 1.15 are objective questions, in which question no. 1.1 to 1.10
are multiple choice questions and question no. 1.11 to 1.15 are fill in the blanks.
T, 1% 15 SegPE v Rreirwar s, 1.1 & 1.10 sgferemedta o 9 s, 111 R 115 7w
T WA E |
3. Very short answer questions are from 2 to 7, short answer (I) questions are from
8 to 12, short answer (II) questions are from 13 to 16, long answer (T) questions
are from 17 to 18 and long answer (IT) questions are from 19 to 20
ey erg Iwra e 3. 2 § 7, T I (1) 3 8 & 12, WY ITR (1) TAFH. 13 H 16 , de
Ferfir (1) W2 S, 17 & 18 e S I (1) 9A . 19 W 20 ¥ |
4. There is choice in Q. 20.
war 3. 20 ¥ faremew R e ® |
Objective Questions (1 marks each) 1 X 15
Q1.1 Itis believed that some venom had fallen on Madurai from lord Shiva's snake. Pick
out a word which has a meaning like the underlined word.
(a) Poison (b) Amrit (¢) Nectar (d) Honey
Q1.2 Money given to the students to continue their studies is called:
(a) Certificate (b) Scholarship  (c) Medal (d) Support
Q1.3 She  in Mumbai -
(a) live (b) lives (c) living (d) none
Q1.4 Carat meter is used to measure
(a) purity of gold (b) purity of silver (c) quality of spices (d) quality of clothes
Q1.5 The shoemaker lived in a little house on the edge of a wood. In this sentence ‘wood’
means.
(a) piece of log  (b) forest (c¢) match box (d) stick
Q1.6 Sudha Chandran was inspired by
(a) Helen Keller  (b) Valentina Tereshkova (c) Elena John (d) Dr Pramod Sethi
Q1.7 Mohan is than his sister.

(a) young (b) younger (¢) youngest (d) more young




Q1.8 In the poem “Fog” the poet reached his home by following
(a) ablind man  (b) his brother  (c) his mother (d) his friend

Q1.9 He goes to school. (Change into Negative)

(a) He is not going to schoo! (b) He does not go to school
(c) He do not go to school (d) He did not go to school
Q1.10 Kniting a woolen scarf requires patience. Choose the correct spelling of the underlined
word.
(a) kniteing. (b) knitting (c) kneting (d) knniting

Q1.11. Grandmother sat on a

Q1.12 In Thai language '"Thai' means

Q1.13 Raju is familiar with computer but he is with typewriter. (Add proper
prefix).

(Q1.14 1 love music and [ want to become a . (Add proper suffix to the
underlined word)

Ql1.15 was invited to draw the king’s portrait.

Very Short Answer Questions (2 marks each) 2X 6

Q2. Complete the table

S. No. | Sentence Who said Tﬂwhom
She hasn’t a single feather ;

1. (Poem: “Sympathy”) | e B_tid
“You are doubtless very big” ,

2 i T - N (e
(The Mountain and the Squirrel) S

3. s ffllﬂt e S S To the man
(Poem: “Fog”) B
Whose picture is it?

% (The Photograph) e N

Q.3 Give a short introduction of Jerusha Abbott?

Q.4 Why did the mountain call the squirrel a ‘little prig’?




Q.5 Make sentences using the given words to describe your teacher.

a. brilliant.

b. kind.

Q.6 Complete the sentences:
a. You should
b. [ would like to

Q.7 Make a word web related to the given word
EXAMINATION

Qﬁ Examination %O
f A\ ﬂ’:

Short Answer I (3 marks each)3 X 5

Q.8 Where does the train pass through?




Q.10

Q.11

Q.12

Q.13

Why did the poet say the lines given below in the poem “Fog"?
“And when it grew so black.
That I could know no place”

Why is Rajyavardhan Singh Rathore famous?

Choose the correct option and fill in the blanks:
a. | finish my work by tomorrow. (has to/ have to/ had to)
b. The frog jumped the pond. (on/ into /at)

c. They playing in the ground. (were, is, have)

Rearrange the following words to make a sentence:
a, for us/cooks /dinner /she.

b. am/I/school/to/going.

c. written/I/a/letter/have

Short Answer II (4 marks each) 4 X 4

Study the image given below carefully and complete the story with the hints given.

grapes, fox, sour, juicy, mangoes, bitter

There was a - One day, he saw a beautiful bunch of hanging H
from a wine trailed along the branches of a tree. The grapes were . The fox’s
mouth watered as he wanted to eat them. He tried again and again but could not reach
them. So, he walked off saying that the grapes are




Q.14

Q.15

Q.16

Q17.

Write four things you like about yourself. \

Arrange the given sentences in correct sequence and put the correct sequence number
in the given box:

» I like rains for many reasons. [_]

e Lastly, it is fun to get wet in the rain. [__]

Secondly, I enjoy putting paper boats in rushing water. ]
Firstly, I love to see water droplets falling on the leaves. ]

If you were given a chance to ask President Kalam 2 questions, what would they be?
L

Long Answer I (5 marks each) 5 X 2

Write bio-data from the given paragraph:

Teejan Bai was born in 1956, in the remote village of Ganiyar. She belongs to Paridhan
Adivasi community. As a child her grandfather’s music fascinated her. But her mother
was against it. However her father supported her. She was trained in the art of Pandavani
by her maternal grandfather. Her first concert, the one most memorable for her was at
Chandrakhuri. She was honoured with Padmashri and Sangit Natak Academy Award.
She is employed in Bhilai Steel Plant. She owes her success to God.

Name

Date of birth, village

First concert

Interest

Awards




-8 Devdas Banjare was born on Ist January, 1937, in Sakra Village in Dhamtari district,

Q.19

His father’s name was Bodhram, but Phool Singh Banjare, whose surname he adopted,
raised him. The boy was exposed to Panthi by a twist of fate. As a youth, Banjare was a
gifted Kabaddi player. As a result of an injury sustained during a match, he had to stop
playing the game. He had to practice hard and strengthen his body because the dance
required strength and vigour.

a. When was Devdas Banjare born?

b. Who raised Devdas Banjare?

c. Which sport was Devdas Banjare good at?

d. What kind of dance did Devdas Banjare do?

e. What does the Panthi dance require?

Long Answers II (6 marks each) 6 X 2

Read the following text and answer the questions given below.

Rohan left for Delhi on 14th January with his parents. They reached Delhi the next day.
They visited Jantar Mantar, Qutub Minar, Mughal Garden, Red Fort and India Gate.
They had dinner at the “Parathe wali gali”. The next day they returned for Raipur. His
sister received him and his parents at the railway station.

a. How many people travel to Delhi?

b. When did they start their journey?

c. Name the places they visited.




d. Where did they have dinner?

e. By what means did they travel?

f. What was the purpose of his visit?

Q.20 Write a brief description of any one of your friends. You may use the words given in
the box.

thin, slim, plump, fair, pale, stout, long, curly, thick, smart,
beautiful, brilliant, punctual, hardworking, cricket, music

OR

Look at the picture given below carefully and write one paragraph about it,




vf-l‘;'




Project Work
Class— 8
Subject — English

Project Work (Any 2) — 20 marks (10 marks each) 2 X 10

1.

Describe any three dance forms in Chhattisgarh. Write about:
(a) Costume (b) Mudras

(¢) Musical Instruments used in the dance performance.
Identify the local festivals of Chhattisgarh. Write about:

(a) Dress (b) Dishes (c) Celebration

(d) Decoration (e) Concerts, music

Identify the great personalities of Chhattisgarh. Collect the informations and
paste the pictures.

List some important tourist places in Chhattisgarh. Write about:
(a) Location (b) Local culture  (c) Attractions
(d) Climate (e) Lodging and food

Collect and fill the application forms of bank account opening and railway

reservation.



e YHIOT 9T URIET 2025
TSl ST

HET — 3134l
fawg — sigsh
] Yl @ UHR | LOs I D
HATH (K,U,A,N,E,C)

1.1 8] 816 (a) Poison 1
1.2 U 809 (b) Scholarship 1
13 A 820 (b) lives 1
1.4 K 809 | (a) Purity of gold 1
15 U 816 (b) forest 1
18 K 813&814 | (a) Helen Keller 1
1.7 A 820 (b) younger 1
1.8 % K 808 (a) a blind man 1
1.9 A 820 (b) He does not go to school 1
1.10 K 818 (b) knitting 1
1.11 K 813 string bed 1
1.12 K 813 freedom 1
1.13 U 809 unfamiliar 1
1.14 U 809 musician 1
1.15 K 809 Raja Verma 1
02 K 813&814 | 1. little girl 2. the mountain 2

3. blind man 4. grandmother
03 % U 823 | Jerusha Abbott was an orphan student.
04 U 823 Because it thought that the squirrel was

E’ small and weak.
05 4:%3 E 821 Open-ended 2
06 N 804 | Open-ended 2
07 U 809 Open-ended 2
08 K 823 The train passed through bridges, 3
= houses, hedges, ditches, hills & plains

and meadows.
09 % N 823 Because the fog grow so thicker that it 3

was not possible to see anything.
10 E’ U 823 Rajyavardhan Singh Rathore is famous 3

because he was India’s first individual
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12

silver medalist in Olympic history in
shooting event.

820

a. have to b.into c¢. were

-

820

a. She cooks dinner for us.
b. I am going to school.
¢. I have written a letter.

13

14

12

16

oIy TN
(1)

813

fox, grapes, juicy, sour,.

824

Open-ended

807

Open-ended

815

Open-ended

17

18

<rg Iaad (1)

C|Z|Z|m| C

824

Teejan Bai, 1956, Ganiyar, Her most
memorable first concert was at
Chandrakhuri, music, Padmashri and
Sangit Natak Academy

m|la|lsa|n|ls

823

a. Devdas Banjare was born on 1st
January, 1937,

b. Phool Singh Banjare raised Devdas
Banjare.

c. He was good at Kabaddi.

d. Devdas Banjare performed Panthi
dance.

e. Panthi dance require strength and
vigour.

19

20

el s (1)

823

a. Three people travelled to Delhi.

b. They started their journey on 14th
January.

¢. They visited Jantar Mantar, Qutub
Minar, Mughal Garden, Red Fort
and India Gate.

d. They had dinner at the “Parathe
wali gali”.

e. They travelled by train.

f. Open-ended

815&822

Open-ended
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Annexure -C

UPPER-PRIMARY CERTIFICATE EXAMINATION 2025
SAMPLE QUESTION PAPER

CLASS — 8"
SUBJECT - MATHEMATICS
TIME - 3:00 Hours Total Marks: 80
Roll No. (In Numerals) ...... wewisuavsveesy T WORERE s inniinmms
School Name: .......... ssassssssessssssasasess Cluster Name: ......... e o .
Bloeks: viiisiusiieisananis RAEARR S ahhex RN | | : ; .. IR

(Only for Evaluator)

Question Allotted | Obtained Question Allotted | Obtained
No. Marks Marks No. Marks Marks
1.1 1 04 2
1.2 1 05 2
13 1 06 2
14 1 o7 2
1.5 1 08 3
1.6 1 09 3
1.7 1 10 3
1.8 1 11 2.
1.9 1 12 3
1.10 1 13 4
1.11 1 14 4
1.12 1 15 4
113 1 16 4
1.14 1 - 17 5
1.15 1 | 18 5
02 2 19 6
| 03 2 20 6
Center Superintendent Signature
Signature and Seal Evaluator

Date: Date



Instructions:

1. All questions are compulsory to solve.

2. From Question No. 1.1 to 1.15 are Objective Type Questions.

3. From Question No. 02 to 07 are Very Short Answer, From Question No. 08 to
12 are Short Answer Type (I), From Question No. 13 to 16 are Short Answer
Type (1I), From Question No. 17 to 18 are Long Answer Type (I) and From
Question No. 19 to 20 are Long Answer Type (II).

4. Internal Choices are given in Long Answer Type (I) Questions No. 17 & 18
and Long Answer Type (II) Questions No.19 & 20.

Objective type questions (15 x 1 = 15 marks)

Choose the correct option

Q. no. Question
1.1 Which of the following is a perfect square number?
(A) 144 (B) 160
(C) 190 (D) 200
Answer-
1.2 When a transversal cuts two parallel lines, what is the sum of the interior angles on
the same side?
(A) 90° (B) 180°
(C) 270° (D) 360°
Answer-
1.3 The mode of the Data 5,3,2,2,4,5,3,3,4,3,5,3 is—
(A) 2 (B)3
(C) 4 (D) 5
Answer-
1.4 Find out in which of the following, it is necessary to arrange the data in ascending or
descending order?
(A) Median (B) Arithmetic mean
(C) Mode (D) Probability
Answer-
1.5 The coefficient of the algebraic expression (—x%y*) is-
(A)-6 (B) -1
(C) 1 (D)6
Answer-
1.6 The diagonals of which polygon bisect at right angles?
(A) Square (B) Rectangle
(C) Triangle (D) Trapezium

Answer-



1.7

1.8

1.9

1.10

1.12
1.13
1.14

115

2

At what price is the discount calculated?
(A) At selling price (B) At Cost price
(C) MRP (Maximum retail Price) (D) At interest
Answer-

The number 1 is called-

(A) Additive identity (B) Unit component
(C) Multiplicative identity (D) Multiplicative inverse.
Answer-

Which of the following is the Proper fraction?

16 7
A7 (B)
©) % (D)=
Answer-

The sum of 2 and p will be-

(A) 2+p (B) p?
(©)2p (D)%
Answer-

Fill in the blanks
The angle of a semicircle is..............

The sum of the four interior angles of a quadrilateral is...............

The value of diameter of a circle is ---------the radius
A matchbox has............ Vertices
A Cuboid has.............. edges:

Very short answer questions (6 x 2 = 12 marks)

Find the value of (-2)7 x28,



3. Inthe given figure, triangle ABC is an isosceles triangle and the centre O of the circle

is situated on side BC, then find the value of angle B?
A

4. Write the following polynomial in decreasing order of exponent of the variable —
—12m5 — 9m® + 16 — 6m? + 8m

5. If the number of sides in a polygon is 8, then find the sum of its interior angles.

6. Solve the equation -
6x +18 = 24

7.  Subtract (:—1) from the rational number %



8.

9.

10.

11.

Short answer question -(i) (5 x 3= 15 marks)

Solve (%)3 X (%}3

Draw a line segment of 7.5 cm and divide it into three equal parts.

Find arithmetic mean-
81, 74, 69, 73, 91, 55, 61

If 20 labourers can complete a work in 20 days, then in how many days will 8 labourers
complete that work?



12. The sum of two numbers is 64. If the second number is three times the first number then
find those numbers-

Short answer question-(ii) (4 x 4 = 16 marks)

13. Ifthe area of a square shape figure is 961 square meters, then find the length of the side
of the figure.

14.  Find the value of 52 x 48 using identities

15. Find the base of the triangle whose perpendicular from apex is 6.5 cm and area is 26
square cm.



16. The length, breadth and height of a room are 5 meters, 4.5 meters and 3 meters
respectively. Find the volume of air filled in it.

Long answer question-(i) (2 x 5= 10 marks)

17. Divide x* —11x +30 by (x —5) and find the quotient and tell whether the divisor is a
factor of the dividend?
Or
Find the value
(x* - y*)(3x — 5)



18. Find the difference between simple interest and compound interest on Rs 3200 at the rate
of 12% annually for 2 years.
Or
The Indian government charges 11% production tax on tractor over the invested amount.
If a tractor produced in a factory costs Rs. 120000, find out the production tax per tractor.



Long answer (ii) question (2 x 6 =12 marks)

19. Construct a rhombus ABCD whose diagonals are AC =6 ¢cm and BD = 8 cm, also
write the steps of construction -

Or

Construct a quadrilateral PQRS in which PQ =3 ¢m, QR =4 ¢m, RS = 3.5 cm, PS =
4.2 cm and QS = 5 cm, also write the steps of construction —



20). The radius of a cylindrical tank is 2.8 meters and height is 3.5 meters. Find the capacity
of that tank.
Or
The area of the curved part of a cylinder is 1000 = square cm and its diameter is 20 cm.
What will be the height of that cylinder?



Project work
Class - 8
Subject — Mathematics

Note - Make any two projects (02 x 10 =20)

1.

Find out the age (approximate) in years of children between 5 and 15 years of 10 families
around you. Arrange this in the form of data and find out which age group has the highest
number of children. What is this value called in statistics?

. Draw a rectangle without measuring it. Draw a rectangular path of length one centimetre

around the interior of the rectangle.
1. Find the area of this rectangular path.

2. Find the perimeter of the smaller rectangle.

. Collect a cuboidal object (eg. box of toothpaste, chalk, soap etc.) and cut out all its faces.

1. How many pairs of faces have equal areas?

2. Find the areas of these faces.

. Make a chart classifying the types of quadrilaterals on the basis of sides, angles and

diagonals. Also explain by drawing a picture of each quadrilateral.

. Collect the number of students studying from class 6 to class 8 in your school. Show them

in a pie chart

Class 6 T 8
Nao. of Students




UPPER-PRIMARY CERTIFICATE EXAMINATION 2025
MODEL ANSWER
CLASS - 8"
SUBJECT - MATHEMATICS

Q. no TYPES OF LOs ANSWER MARKS
QUESTION
(K, U,ANEC)
1.1 K MB04 | (A) 144 1
1.2 K MB805 | (B) 180° 1
1.3 K M819, | (B)3 1
MB820
14 K MB819, | (A) Median 1
M820
1.5 K M807 | (B)-1 1
16 | g M811, | (A) Square 1
g MS12
&
1.7 g: MR09 | (C) Maximum retail price 1
18 | ¢ MBR03 | (C) Multiplicative identity 1
19 | 3 K M801 | 5. 1
g D5
1.10 U MB802 | (A) 2+P 1
11 K w Right angle/90" 1
1.12 K MS815 | 360° 1
1.13 K - Twice 1
1.14 0] M8I13, | 8 1
MBIRB
1.15 K MB818 | 12 1
02 . M805 | (-2)7 x28 2
% - (_1 % 2)'? X 2!]
z = (1) x27 x 2¢%
h = —-1x 2'?+3
3 = =1 2%+8
- E = 215
B | e A In triangje m ..ﬁﬁ. - 90° fangle df 2
.. semicircle)
2 , Anﬂ L’B = ztjanﬂﬁ oppuﬁit‘e
to equal sides of isosceles triangle)




Hence in some ABC

ZA + /B + /C = 180°

90° + /B + /B = 180°
2 «B = 180°-90°

= 90°
. = 2
~ZB = z
= 45°
04 M807 | —12m® — 9m® + 16 — 6m?* + 8m
Decreasing order of exponent of
variables in the given polynomial
—9mb — 12m° — 6m? + 8m + 16
05 MS811, | Sum of internal angles of a polygon
Mg812 | = (n—2) x 180°
Here, n =8
Therefore, Sum = (n — 2) X 180°
= (8-—2) x 180°
=§ % 180°
= 1080°
Answer = 1080°
06 M806 | 6x + 18 = 24
6x=24-18
6x=6
™.
8
x=1
07 Msgol, | _1 __(;1_)
mgo2 | & M4
1.1
8 4
142
T8
" 3
~ 8
08 M805 | _ 23, L3
z *—u-' * 4
= = 73753
& 2 I 2
£ g -2
2 B 7
W 1




09

il X AB=75cm
AC=25cm
CD=25cm
DB=2.5cm

sum af scores

10 MR19, | Arithmetic mean = o e S
M820 _ B1474+ 69+ 73+ 91+ 55+ 61
_ S04 :
B
Arithmetic mean = 72
11 M&10 Number of 20 8
labours
No. of days 20 x
Here, there is inverse variation.
Therefore,
NN =x2):
20x20=8xx
20 X 20 _
8 =X
S50=x
x = 50 Days
Answer = 50 Days
12 M&06 | Let first number be x
Then, second number = 3x
According to the question,
Sum of the two numbers is 64
Therefore, x + 3x = 64
4x = 64
64
Y
x =16
Ix=3x16=48
Answer - Numbers are 16,48
BB MB04 | Area of square shape figure = 961
5 square meter
E Area of square = side x side = 961
- square meter
S Length of the arm of figure = V961
E =3
=
E Length of the square = 31 meter
14 ﬁ M&08 | Identity52 x 48




15

16

52 x 48
= (50+ 2) (50-2)
[Identity (a+b)(a—b)=a®*—b? ]
= 502 — 22
= 2500 — 4
= 2496

ME16,
MEI17

Perpendicular of triangle = 6.5 cm
Area = 26 cm?
Base=7

Are =§ % base x perpendicular(height)

26 = ;x base x 6.5
- 26%2

6.5
base= 8 cm

MR18

The shape of the room is cuboid, Therefore,
to find the air filled in it,we need to find the
volume of cuboid.
Here, length = 5 meter, breadth=4.5 meter,
height=3 meter
Volume of cuboid = length x breadth X
height

=5x45x%x3
Answer= 67.5 cubic m

W

18

Long answer question (1)

MBO7

x—6
x—5)j—11::+3ﬂ
~ 0¥
—
—6/+

s
—6fk +
P -
divisor = x — 6, Remainder =0
Therefore, divisor is a factor of the

dividend.

OR
(x* = y*)(3x — 5y)
= x%(3x — 5y) — y*(3x — 5y)
= 3x% — 5yx? — 3xy? 4+ 5y%)
= 3x2 — 5yx? — 3xy? + 5y%)

M809

Principal (P) = Rs. 3200 , Rate (R) =
12%, Time( T) = 2 years




Principal= Ratex Time
100

__3200x12x2

T 100

Simple Interest =

Simple Interest = Rs. 768

Compound Interest= P [(1 + %}T e 1]
12
= 3200 [(1 +o2)2 - 1]
[ 5
=3200 {557 - 1]

= 3200

[56%56 1]
L5050

[3136
= 3200 [0 - 1]

[3136—2500
_th}ﬂ_ 2500 ]

[ 636
= 3200 o

636
= 3200 % ﬁ

__ 20352
25

Compound Interest = Rs. 814.08 .
Difference between Compound Interest

and Simple Interest =
Compound Interest — Simple Interest
= 814.08 - 768
Answer = Rs. 46.08
or

Production cost of 1 tractor= Rs.12000
Production tax = 11%Production cost
= 11% of 12000
5 % 12000
Rs.1320
Production tax =Rs. 1320

1]
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Long answer question
(in)

M815

Rhombus ABCD whose diagonals
are AC= 6 cm and BD = 8 cm
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Steps of construction

1. Firstly a rough diagram is drawn,
diagonals of thombus bisect each other
at right angles .On this basis ,we will
construct a rhombus

2. Draw a line segment AC =6 ¢m
3.Line segment AC will be bisected,
Line bisector XY of AC cuts at O. This
point O is the bisected point of
diagonal,

4. From point O , cut an arc OD = OB=

§= 4 cm radius up and down ,both the

sides at point B and D.
5. Join both the points ,point B and
point D to point A and point C

This way desired rhombus ABCD
is obtained

or

Quadrilateral PORS in which PQ =3
emQR=4cm,RS=3.5cm, PS=4.2
cmand QS=5cm

5 Hes " 15 em B

4l em

P
om . : Jem

Steps of Construction —

1. Firstly draw a line segment PQ =3 cm

2. Taking Q as center and with radius 5 cm

cut an arc.

3. Now taking P as center, cut an arc of 4.2

c¢m which cuts previous arc at point S.

4, Point S is joined to point P and point Q

with the help of scale.

5. Taking Q and S as center, with the help of

compass, cut an arc of radius 4 cm and 3.5

c¢m which cuts each other at point R.

6. Point R is joined to point S and point Q.
This way desired rhombus PQRS is

obtained

MBO08

Radius of cylinder (r) = 2.8 meter
Height = h = 3.5 meter
Capacity of the tank = Volume of
cylinder
=9*h
= ? X 2.8 % 2.8 X
3.5




22  28x28x35

7 1000

11x14x14
25

2156
25

answer
= 86.24 cubic meter

or
Area of curved part of cylinder = 1000 n
square cm.

diameter = 20 cm, height = ?
Diameter= 20 cm, radius(r) = -zz-u

=10 cm
Curved surface area of cylinder = 2nrh

1000n=2xnx10xh

1000w
h= = 50 cm.
2mx10

h= 50 cm

TOTAL =




Annexure -C

UPPER-PRIMARY CERTIFICATE EXAMINATION 2025

TIME - 3:00 Hours

SAMPLE QUESTION PAPER

CLASS - 8™
SUBJECT - SCIENCE

Total Marks: 80

Roll No. (In NUnersils) ocassacssnsasssssossnsesssonss I WORIEE corsnsssnassnsonssssnsasssossonsnsnons

SChool Nae! counnvannaiuinamiiniams Cluster Name: ..... R P
BOREE sisisiviviissiinsamiasarssiinsisnsasseensarniac ITBIEIER o sussanernssinornioninsnnesnassnsaonsnins
(Only for Evaluator)
Question No. Allotted Marks | Obtained Marks Question No. Allotted Marks | Obtained Marks
1.1 | 04 2
1.2 1 05 2
1.3 1 06 2
1.4 1 07 2
1.5 1 08 3
1.6 1 09 3
1.7 ] 10 3
1.8 1 11 3
1.9 1 12 3
1.10 1 13 4
1.11 1 14 4
1.12 1 15 4
1.13 | 16 4
1.14 1 17 5
1.15 1 18 5
02 2 19 6
03 2 20 6
Center Superintendent Signature
Signature and Seal Evaluator

Date:

Date:




Instructions:

1. All questions are compulsory to solve.

2. From Question No. 1.1 to 1.15 are Objective Type Questions.

3. From Question No. 02 to 07 are Very Short Answer Type. From Question No. 08 to 12 are
Short Answer Type (1), From Question No. 13 to 16 are Short Answer Type (11), From
Question No. 17 to 18 are Long Answer Type (I) and From Question No. 19 to 20 are Long
Answer Type (II).

4. Internal Choices are given in Long Answer Type (I) Questions No. 17 & 18 and Long Answer
Type (IT) Questions No.19 & 20.

Objective Questions (15 x 1 =15 Marks)
Question 1 (A) Choose the correct option —

(1.1) Which of the following planets has three rings?
(a) Mars (b) Saturn
(¢) Venus (d) Uranus

ARENEL s sviiviinvaiin

(1.2) The clothes of fireman are made up of —

(a) Teflon (b) Melamine
(c) Bakelite (d) Thermoplastic
TR ¢.cccmacimososcnsn s S A A R T A O B A R S A

(1.3) Which of the following is a reason of warming of earth’s atmosphere —

(a) Ozone layer (b) Nitrogen
(c) Oxygen (d) Greenhouse gases
PABBINEE cimsmnains s s S A S ST RS S BN S S A S S TR S v S A S N A

(1.4) Which of the following is not a characteristic of metals—

(a) High density (b) Electrical conductivity
(c) Fragility (d) Malleability
BBV e s s Y R N R R YR SRS AN R H SR VR A

(1.5) Which of the following is a causative organism of malaria —

(a) Bacteria (b) Protozoa
(¢) Virus (d) Fungi
O T TSR R e B T RO e e Sy Ly g

(1.6) Which region has the highest temperature among the different zones of the flame —

(a) Inner dark region (b) Middle bright and luminous region
(¢) Outer light blue region (d) non-luminous area
AADBWET 1iiiiiinaniinisesansssssssssssssrssssssssssssassnsnresesssnsssnsssnsssnsstensssess

(1.7) Which of the following is power house of the cell —

(a) Centrosome (b) Ribosome
(c) Nucleus (d) Mitochondria
BARIBIVET 0 evvvnnesnnmrymss ey s s e e s e s pns s asss s asss e s smestonsssensssaes sy sarssasmsanss



(1.8) The value of the minimum distance of the clear vision is —

(a) 25 cm (b) 17 em
(c) 20 cm (d) 15 em
PIBWCE sk i R s R i m s s R

(1.9) To communicate with each other, Astronauts use —

(a) Mobile (b) Telephone
(¢) Radio waves (d) Gramophone
e ey T P PR T Sy R S MRy < T ety R A

(1.10) In a solar cell, energy is converted into —

(a) Tidal energy (b) Wind energy
(c) Thermal energy (d) Electric energy
3 R ey S S L P S U RSt

(B) Fill in the blanks —

(malaria, honey, harmful, electric cell, earthworm)

(1.11) The electrical decomposition takes place in ..........ccovvnennn.
ELE2Y osasiiinanivid is obtained from beekeeping.

(1.13) ..ocvvvvennnnnn... 18 considered as ‘farmer’s friend’.

(1.14) The consumption of drugs is ......covevvvnennenn. for health.

(1.15) vovvviiiiiiinnnnn.... disease is cause due to bite of female anopheles mosquito.

Very Short Answer Questions (6 x 2 =12 Marks)

Question 2 Write the names of two things made from Nylon fibers.

........................................................................................................................

-------------------------------------------------------------------------------------------------------------------------

........................................................................................................................

-------------------------------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------------------------------

.........................................................................................................................

Question 5§ Why irrigation is important for crops?

B DI ST s 1 v assosvnsmonsssnsnnsssssssssssnnssnnsnsnsnssssssessssssssosssssssnssesessnsssssessssssssesnnsissssssnsssss

........................................................................................................................

------------------------------------------------------------------------------------------------------------------------



Question 6 Green vegetables and chilies are preserved by drying. Write the names of two other
vegetables whose preservation is also done by drying.

ARV s mwsarmas o e A R A R B T R B R A R e A G SR A e e
L N R T

Question 7 Why diet planning is necessary for adolescents?

ANSWeT.....c.us
LR R R L R R T

R R R R N R e e

Short Answer Type — I Questions (S * 3 =15 Marks)

Question 8 Write the names of food items rich in vitamin A & C, and diseases caused by its
deficiency.

Ans‘weritttttt-til----i ----------------------- L
sassssEmsEnaw sransmsEnas I I I T i R I A S sebEEERERE GAREE AR B R R B R R R e A seamamdnn
T R R R R T R R I R S S P R R R

Question 9 Write the names of allotropes of carbon and wriie one use of each.

BRTNEIVIET i A A 0 AR A DS R AR R A M s N M a0

..... BE R R R R R R R R R R R B R R R R R RN R R RN R RN R R R R R R R R N R B SR E R SRR R R SRR RN R EE BN R R EE RN EEE NSNS R EE S SRR

Question 10 Why do we slip when we step on a banana peel?

ADSWET...o0ivenss B B B A S A S R
LR R R R R R N N

R R R R E R R R R R R R R R R R SR R R R R R ER RS

Question 11 Why gold and silver are used for making ornaments?

PIEVOEE 550 vr v nn S A s h s eSS A AR AR

L R R R R R I R R R N R

Question 12 What will happen if our body’s immunity power gets lost?

R I e e e L e e B o

R e A R R R R R R R T I

LR R L R e N R R R T T SN I Ry

Short Answer Type — II Questions (4 x 4 =16 Marks)

Question 13 Write the names of the planets of solar system as per their increasing distance from the
sun.

Msweriiiii*-**'l"-‘-""lllll‘---'!-l‘!!ll-l!!!'!lllllll+|"!+1+ll'llIllilliii++i+i‘+i‘iilillliiillllliiiiill-llliil-i .........

R T T R R R F R LR ] Amrm R R R L LR L R R R R R R R I r RN " T Y

R R R e R N N R R R R R R R E R R R S S E T

R T R R T R R R T R R A R N R A BER R R SRR R RN RN R NN BN e R RN R



Question 14 Identify the following chemical reactions and write their names, reactants and
products.

(1)2NH3 =" Ny + 3k
(2)Zn + 2HCl —— 7ZnCl + H»
Question 15 Draw a well labelled diagram of a Biogas plant.

Answer

Question 16 Draw a ray diagram — when the object is placed between optical center of convex lens
and principal focus.

Answer

Long Answer Type — I Questions (2 x 5=10 Marks)
Question 17 Describe Cholera disease on the basis of the following points —
(i) Name of the cause of the disease - (1 Mark)
(ii) Two symptoms of the disease - (2 Marks)
(1ii) Two preventive measures from the disease - (2 Marks)

OR

Describe Filaria (Elephantiasis) disease on the basis of the following points —
(1) Name of the cause of the disease - (1 Mark)
(i) Two symptoms of the disease - (2 Marks)

(iii) Two preventive measures from the disease - (2 Marks)



R R

D R I I R A
P R R R R T T R R R R A )

R R IR EEE R R RN AR R R E R R R B R A R R R R R B AR B R R EE R R R EEE

D R R I R R R R N S R e PR R R R ]

Question 18 Label A, B, C, D in the given diagram and write one function of each.

7:\ A
.B

. C
)—-D

OR

Label A, B, C, D in the given diagram of a prokaryotic cell and write one function of each.

R I R T T T e T I I e T I R e e ]

LR N N LR RN R NN LRI R R R R R A SR
------------- LR mEsmssasEEe R e R T I R I I
R T R I R R T R R R R T I R R I I R R I A R ]

--------------------------- B EE B R EE RS SRR R RS A RS E R B R R R R R R RS R R R R AR E R E R B R R R R RS R AR EEE R AR EAEE B R RS EE

BE AR S SRR RS SRR E R EE RS R ER R E R R R R R R R R AR EE S R R R R R R R R R R R R RSN R R R R R W R R R R R R EEE R R R E W R R R R R E R EEEEE e EE R



Long Answer Type — Il Questions (2 x 6 =12 Marks)

Question 19 Which are the gases related to greenhouse effect? What will be the effect, if the

amount of these gases increase in the atmosphere?
OR

How is air pollution caused due to industrial waste and how it can be controlled?

L SRR R R R R AEEEEEEEER R AR RN EE SRR AR R EEEE amameun

R T N R R R R R R R R T T T T T T T

R N A N N E R R R} B R R R SRR RS RN R R R E R R AR R R R e TESEEEEEE]
R R R R R R R R R R R R R R E  E EE R REEEEE
LR N A RN R A A B I ) PR
-------------------------- A AR AR R R R RE AR R R R R R R R R RS R R R R R E R R R E R R R EEEE R E R E R R R B R R R R R R R R R
BEE R R E R R R R R SRR AR R R R RN RN R RN R R R R R R R EEE RS EEE e sasssaBsssaBa R BN A EEE B e MR s R B RE
R R R

Question 20 Mention the agricultural activities to grow gram crop in your school garden.
OR

You have to prepare compost manure for your school garden. What process will you follow to

prepare the compost?

T ———.

LR R R N N R I O I I T T O O I R T O B B Sy [EE R R
LE AR R LR LR R R LR RN NIRRT N L R I I )
LR N N R N R N N

--------------------------- B R R N I e



PROJECT WORK
CLASS - 8"
SUBJECT - SCIENCE
Project Work 20 Marks

Students will complete project work with the help of teacher.

Note: Only two project works need to be done.

Question 1. Plastic has become the cause of environmental pollution. What measures will

you take to make the environment plastic free and reduce environmental pollution? (Write
your answer by making a list, picture chart, flowchart or by making a file)

Question 2. Make a list of water sources found in your village or city and what measures
will you take to prevent pollution of water sources?

Question 3. Write the information related to greenhouse effect collected from magazines and
news paper in a file and paste the relevant photographs.

Question 4. Make an electrical circuit and demonstrate the conductivity of electricity in
water, fruits and vegetables and write this process in a file.

Question 5. Identify and classify the chemical reactions taking place in your environment.



UPPER-PRIMARY CERTIFICATE EXAMINATION 2025
MODEL ANSWERS

CLASS - 8"

SUBJECT - SCIENCE

Question Type of Questions | LOs | Answer Marks
Number (K,U,AN.E,C)
1.1 K 802 | B |
1.2 K 801 | B 1
1.3 U 804 | D 1
1.4 K 803 | C |
1.5 K 802 | B 1
1.6 K 805 | C |
1.7 U 801 | D 1
1.8 K 807 | A 1
1.9 K 810 | C 1
1.10 U 814 | D 1
111 K 802 | Electric cell |
1.12 K 802 | Honey 1
1.13 K 802 | Earthworm 1
1.14 K 802 | Harmful 1
1.15 8] 802 | Malaria 1
02 A 811 | Parachute, rope, socks, brush (any-2) 2
03 U 801 Noise Melodious sound 2
1) The sound which is | The sound which is
unpleasant to the ears is | pleasant to our ears is
called noise. called melodious sound.
2) Irregular vibrations Regular vibrations
cause noise. which have a definite
relationship with each
other produce
melodious sounds.
04 A 811 | (1) Jewellery is made by coating a thin layer of 2
precious metal like gold or silver on cheaper metal
objects through the process of electroplating.
(2) This process is used to obtain pure metal from
metal ore.
05 u 805 | Water received through irrigation, helps plants absorb 2
mineral salts, carry out photo-synthesis and
biological activities which are essential plants
growth.
06 A 802 | Name of two other vegetables - fenugreek, mint, 2
potato etc.
07 U 804 | Adolescence is the period of rapid growth and 2
development. Therefore, it is essential for any
adolescent to have a balanced diet. Balanced diet
means that the food should contain proteins,
carbohydrates, fats vitamins and minerals in
appropriate amounts,
08 K 802 | Vitamin A is found in milk, egg volk, liver, green 3

vegetables, tomatoes and carrots. Vitamin A
deficiency causes a disease called night blindness.
Vitamin C is found in fruits like orange, lemon
gooseberry ete. Its deficiency causes skin diseases
like scurvy.




801

The allotropes of carbon and their uses —

(1) Diamond — In making tools for cutting glass.
(2) Graphite — in making pencil lead,

(3) Lamp black — in making ink and black dye.
(4} Coal — as fuel.

(5) Charcoal — as absorbent of gas (odour)

Lad

10

805

Friction is necessary for walking. When we step on
the smooth surface of a banana peel, it reduces the
friction between the feet and the floor surface. This is
the season why we slip when we step on a banana

peel.

11

804

Gold and silver metals are used in making jewellery
because they do not react with air, water, acidic and
alkaline substances. These metals are noble metals.
Duie to their least reactive nature, their metallic shine
remains for a long time.

803

If the immunity in our body is lost, the number of
germs will increase rapidly and the disease will
spread, causing fever and other symptoms of the
disease.

13

802

The names of the planets in the increasing order of
their distance from the sun are —

1. Mercury

2. Venus

3. Earth

4. Mars

5. Jupiter

6. Saturn

7. Uranus

8. Neptune

806

(13} Oxidation reaction —

2NH; —» N: + 3H2

Reactant Product + Product

(2) Displacement reaction

Zn + 2HCl] ——— 7nCl: +H;
Reactants Product + Product

BO9

16

804

8

17

805

(i) The cause of the disease — Vibrio chlorae
(Bacteria).

(ii) Two symptoms of the disease —

(a) The patient suffers from white and watery
stools.




(b) There are cramps and spasms in the
stomach muscles.

(iii) Two preventive measures from the
disease —

(a) Eat fresh and clean food. Do not eat
contaminated food.

(b) The patient should be given lifesaving
solution ORS repeatedly.

OR

(i) The cause of the disease — Wucheria
brancrofti (Worm).

(ii) Two symptoms of the disease —

(a) The patient suffers from fevers and
itching.

(b) The foot swells and becomes thicker than
normal. It is also called elephantiasis.

(iii) Two preventive measures from the
disease —

(a) To avoid mosquitoes, mosquito nets
should be used.

(b) Mosquito eggs, larvae and mosquitoes
should be destroyed by pouring kerosene or
engine oil at the places where mosquitoes
breed.

18

809

A — Mitochondria

B — Nucleus

C - Ribosome

D — Plasma membrane

Mitochondria is the respiratory centre of the cell,
where energy is generated by the oxidation of food
substance, this is why it is also known as the power
house of the cell.

OR

A — Flagellum

B — Cell wall

C — Cell membrane

D -D.N.A.

Cell membrane forms an outer covering. Due to the
absence of nuclear membrane around the nucleus,
genetic material D.N.A. is scattered in the cytoplasm
and they are the carriers of the hereditary characters.

19

813

Greenhouse gases are carbon dioxide, methane,
chlorofluorocarbons, ozone. Greenhouse gases
control the earth's temperature by absorbing infrared
rays coming from the sun. Due to pollution, the
amount of greenhouse gases is continuously
increasing, due to which the earth's temperature is
getting hotter than before. Similarly, the increase in
the amounts of gases can cause the following crises
in the world.

1. Increase in the average temperature of the earth
2. The severity of storms will increase.

3. Forest fires.




4. Melting of glaciers,
5. Sea level will increase etc.

OR

Industries pollute our environment. The fumes
emitted from industries cause air pollution and the
wastes cause problems like water pollution. The
following efforts can be made to reduce the harmful
effects of industries —

1. Chimneys of industries should be built at a height.
2. Chimney should be installed with machines which
can convert smoke into less harmful gases.

3. There should be proper arrangement for disposal of
wastes.

4.There should be provision for punitive action
(punishment) for dumping wastes directly in rivers
and drains.

20

814

To grow the gram crop in school garden, we will do
the following agricultural activities.
1. Selection of land

2. Preparation of land (ploughing)
3. Selection of seeds

4. Treatment of seeds

5. Sowing of seeds

6. Fertilizing

7. Irrigating

8. Weeding

9. Crop protection

10. Crop harvesting

11. Threshing of crop

12. Storage.

OR

In the process of making compost manure for school
gardening, the following activities will be done:

In an empty space in the school, a pit of one meter
long.one meter wide and one meter deep will be dug
and rotting garbage from the surrounding area (like
pieces of paper, branches of trees and plants, leaves,
peels of fruits and vegetables, left over food from mid-
day meal etc.) will be added to it daily. When it will
reach a height of 50-60 cms from the ground, then a
mixture of cow dung and water will be added to it.
Then it will be covered with soil and will be plastered
with cow dung. When the compost will be ready, the
soil will sink and a black powdery substance will be
found inside, which is the compost manure. This
compost can now be used for school gardening.

Total =

80
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Social Science
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Roll No. (in numbers) ......................
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Instructions:-

1. It is compulsory to solve all the questions.
2. Question number 1.1 to 1.15 are objective type question.
3. Question number 02 to 07 are very short answer.

Type questions.

Question number 08 to 12 are short answer type.
Long answer type questions i) Question number 17 to 18.
Long answer type 02 questions  ii) Questions number 19 to 20.
4. Long answer type Que. 17 to 18 and long answer type 2 Question number 19
and 20 have been given as options.

Q.1 (A) Choose the correct option and write it.

1.1  Which of the following is a man-made resource?
(a) mineral (b) rock
(¢) machine (d) soil

Ans. -

1.2  What is called black gold?
(a) gold (b) coal
(c) iron (d) petroleum

Ans. -

1.3 Where is the head quarter of the United Nations located?
(a) Washington (b) Newyork
(c) Delhi (d) Calcutta

Ans. -

1.4  On which number can children make a complaint call - if they are ill —
treated

(a) 1098 (b) 1089
(c) 108 (d) 100

Ans. -
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1.5 Who was the president of the constitution assembly?

(a) Dr. Bhimrao Ambedker (b) Dr. Sachhidanand

(¢) Dr. Rajendra Prasad (d) Dr. Khubchand Bhaghel
Ans. -

1.6  Who was the author of Vande Mataram?

(a) Smt. Minimata (b) Smt. Sarojini Naidu

(c) Shri Ravindranath Tagore (d) Shri Bankim Chandra Chhattopadhyay
Ans. -

1.7 Which city is called the Manchester of India?
(a) Calcutta (b) Surat
(c) Delhi (d) Mumbai

Ans. -

1.8 Who discovered the sea route from Europe to India?
(a) Colombus (b) Martin Luther
(¢) Vas co-da-gama (d) Coppernicus

Ans. -

1.9 Accounting of income and expenditure is called?
(a) Budget (b) Tax
(c) Saving (d) Interest

Ans, -

1.10  Who implemented the Permanent Settlement?
(a) Dalhousie (b) Cornwallis
(c) Wellesley (d) William Bentinck

Ans, -
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Section (B) Fill in the blanks.

LIU ... was the last emperor of Delhi.
LA2 e 18 Called the Iron man of India.
L3 .. isthe phone number of the police control room.

1.14 Juteisalsoknownas ... ... ..

LIS ... industry is one of the oldest industries in the world.

Very short answer type questions. (Marks 2 x 6 =12)

Q.2 What is Income tax?

Ans. -

Q.3 Write any two principles of Satnam Sect.
Ans. -

Q.4 Write any four fundamental rights given by the constitution.

Ans, -

Q.5 Why do we need courts?

Ans. -

Q. 6 What four things will you do to avoid bad behavior and actions of other
people? Explain.

Ans. -

Q.7 What will happen if there will be no rules or laws in the society?

Ans. -
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Short answer type questions | (Marks 3 x 5 =15)
Q.8 Why is the state of Chhattisgarh is called Chhattisgarh?
Ans. -

Q.9 Write any three ways to save energy at home?

Ans. -

Q.10 What do you mean by Central Government? Write the names of all the
organs of Central Government.

Ans. -

Q.11 Write any three ways to make the soil fertile?
Ans. -

Q.12 What do you understand by constitution?
Ans. -

Short answer type questions 11 (Marks 4 x 4 =16)
Q.13 The middle class has become the backbone of modern social system. Why?
Ans. -
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Q.14 What is meant by the policy of non-alignment?

Ans. -

Q.15 Draw a labelled diagram of soil profile?

Ans. -

Q.16 State your views on the slogan 'beti bachao beti padao’

Ans. -

Long answer type questions I (Marks 5 x 2 =10)
Q.17 Discuss the crops on the basis of the following points.

S. No. Given Points Wheat Rice

01 | Producing Country

02 | Soil

03 Amount of water

04 | Temperature

05 | Sowing and
harvesting time
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or

Differentiate between Loksabha and Rajyasabha on the basis of the following
points -

S. No. Given Points Loksabha Rajasabha

01 No. of members

02 |No. of members
nominated by the
president

03 Process of election

04 tenure

05 No. of seats in
Chhattisgarh

Q.18 Show any five places (centers) of the revolt of 1857 in the map of India.
1. Uttar Pradesh 2. Madhya Pradesh 3. Bihar 4. Jharkhand

5. Chhattisgarh
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or

Draw a well labelled diagram of biogas plant.

Long answer type questions I1 (Marks 6 x 2 =12)

Q.19 What do you understand by population distribution? Describe the
geographical factors affecting population distribution.

or

Describe the method for obtaining information under RTI?

Ans. -
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Q.20

Ans. -

Write short notes on the following (any two)
a) Dalhousie's annexation policy
b) Subsidiary alliance
¢) Dual rule.
or
Write short notes on the following (any two)
a) United Nations.
b) India's role in United Nations.
¢) World Health Organization.




Social Science
Project work
Instructions: Do any two of these Projects. 10x2 = 20 Marks

Q1. Give information about the five neighboring states of Chhattisgarh on the
basis of the following points.

'S.no | State Capital | Language/Dialect | Food | SIGNIFICANTE
18

[-2

Q2. Collect information about any two dam in Chhattisgarh on the basis of the
following points.

1. Picture

2. Name

3. District, where is it

4. River on which it is built

5. Use

Q3. Write the biography of any two freedom fighter of Chhattisgarh on the basis of
the following points,

1. Picture

2. Date of birth and death
3. Place of Birth

4. Work

5. Achievement




Q4. Describe any two tourist place of Chhattisgarh base on the following point
with picture?

|. Picture
2. Position
3. Weightage

4. New/Ancient

Q5. Write about any two tribes of Chhattisgarh on the basis of the following
Points.

1. Name of tribes
2. Local Area
3. Costumes, food

4. Dialect

5. Business/Employment



Model answers
Class:- VIII

Social Science

Q. No. Type of Question LOs Answer Mark
(K,U,A,N,E,C)
1.1 (U) 805 | C. Machine. 1
1.2 (K) 806 | D. Petroleum 1
1.3 (K) 813 | B. Newyork 1
14 ) - [ A 1098 1
1.5 (K) 823 | C. Dr.Rajendra Prasad 1
16 (K) 821 | D. Shri Bankim Chandra 1
Chattopadhyay
1.7 (K) 813 | B. Surat 1
1.8 (K) 812 | C. Vasco-da-gama 1
1.9 (K) 834 | A. Budget 1
1.10 (K) 814 | B. Cornwallis 1
1.11 (K) 816 | Bahadur Shah Zafar 1
1.12 (K) 822 | Sardar Vallabhbhai Patel 1
1.13 (K) 830 | 100 1
1.14 (U) 802 | Golden Fiber 1
1.15 (K) 801 | Cotton Textile 1
02 (K) 834 | Income Tex s Levied by the 2
government on the basis of income of
an individual.
03 (U 818 | 1. Truth is considered as a form of | 2
god.
E 2. All castes and religions are equal.
04 . (A) 824 | 1. Right to equality 2
2. Right to freedom
CE 3. Right against exploitation
4. Right to constitutional remedies.
05 (U) 831 | Courts are needed to prevent crime, 2

protect the rights of people and to run

the law and order smoothly.




06 (A) = | a)Shout
b) move
c) go away
d) Tell somebody.

07 () 806 | If there are, no rules or laws in the
society a feeling of anarchy will
develop in the society. Peace and unity
will not be able to prevail in the
Country.

08 (U) The Chhattisgarh State is Called
Chhattisgarh because there are 18
forts in Ratanpur state and 18 forts in
Raipur state.

09 (AN) 806 |a) By using electricity as per
requirements.

b) By using more sunlight in the
house.
- c¢) Use of solar energy.
10 - ) 806 | The Government that makes laws on
% many subjects for the whole country is
Eo called the Central Government. It's
three main organs are:-
a) Legislature
b) Executive
2) Judiciary.
11 (U) 834 1. Making minimum use of

organic fertilisers.
2. Crop-rotation should be done.

3. Proper arrangement of irrigation.




12

(U)

823

Constitution is a collection of wright
rules which outlines the system of

India and our social ideals.

13

14

15

16

g I (11)

()]

811

The growth of many businesses a new
class of professionals like bankers,
brokers, Clerks, accountants etc. came
into existence in the society. This
class, called the middle class was not
bound by customs and traditions. This
class was eager to know new things.
Thus, the middle class became the

backbone of the modern Society.

(U)

834

Taking decisions independently and
impartially in international matters
related to other countries is an
important part of India's foreign
Policy, which has been possible by not
joining any. group in the world, This

is called India's non-alignment policy.

(A)

807

Labelled diagram of soil profile.

(A)

818

To oppose female infanticide or girl
child killing and to promote women
education, Beti bachao beti padao

campaign was launched.




(AN) 804 S | Give | Whea | Rice
n i
n | Point
0 |s
1 | Produ | USA, | China, India, Sri lanka, Ja|
. | cing | Canad
Count | a
ry Russia
etc.
2 | Sail Loam | Alluvial Soil
y soil
3 | Amo | Mediu | Higher
. | unt of [ m
water
4 | Temp | Mediu | Higher
. |eratur | m
826 €
5 | Sowi | Sowin | Sowing-June, July
ng i - | Harvesting- October Novg
and Octob
harve | er
sting | Nove
time. | mber
Harve
sting
March
April.
Or
S.n | Given Points | Loksab | Rajya
0 ha sabha
I No of | 545 250
members
2 No. of | 02 12
members
nominated by
the President.
3 Process of | Elected | Elected by
election by state govt,
people
4 Tenure. 5 6
5 No. of seats in | 11 5
Chhattisgarh
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@i I (1)

V)

803

829

The way people are spread is called
Population distribution over the land.
Geographical factors  affecting
population distribution are
To pography: People prefer to live in
the plains rather than mountain and
plateaus the because are suitable for
farming, manufacturing plains and
service activities.
Climate: People generally avoid
extreme climates that are too hot or too
cold.
Soil: Fertile soil provide suitable land
for agriculture. Fertile plains are
populated dorsally.
Water:-People prefer to live in areas
where water is easily available.
Minerals:- Mineral rich areas are
more populated.

Or
Under the Right to information Act
2005, an application has to be
submitted in writing to the institution
or agency from which the information
is to be obtained. An application fee of
Rs. 10/- has to be deposited along with
the application. The applicant should
obtain the receipt of the fee. A person
living below the poverty line does not
have to pay the fee. The information

sought is provided by the concern
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office, within 30 days of the
application. If photocopies of any type
of paper are being provided under the
information, then the fee for the
photocopy has to be paid. It is
necessary to obtain a receipt while
paying the amount. The fee can also be

paid in advance.

(A)

804

834

Dalhousie’s Annexation Policy: -

(1) Doctrine of Lapse means kings
without successor or had adopted
children would not get the right to
rule their state. Those states were
captured by English.

(2) Capturing of those states which
had poor governance.

(3) Authorising the states through
wars.

Subsidiary treaty: - When Lord
Wellesley Came to India in 1798 as
Governor General, the policy he
implemented for the British empire
are remembered.in Indian history.as
Subsidiary Treaty.

Dual rule:- In dual rule, the company
had the right to collect revenue in
Bengal. They also got the right to keep
soldiers free and to protect them. But
unlike them, the responsibility of the
entire administration was with the
Mughal emperor. Thus the British got
the economic, military and legal
benefits but all the responsibilities
were with the Mughals and Nawabs.
Or

United Nations :- To solve the fearful
disputes between different countries in
the world, to solve problems
peacefully, to promote human welfare
in the word and for development of all
the countries through mutual co-




operation, many countries of the world
together. established the United
Nations.

India's role in United Nations:-
India is one of the founding countries
of united nations It has played an
important role in formulating the
objectives and principles of the
United Nations. India has been a
member of various organs of the
United Nations many times. India has
Supported the United Nations in
military  operations to restore
democracy, remove conflicts and
establish peace.

W.H.O :- World Health Organisation

This is the campaign in which the
World Health Organisation (WHO)
and other experts are running the
vaccination campaign together to
protect against diseases like pulse
polio vaccination, Measles, whooping
cough and diphtheria etc.
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